N of reco track vs dxy [\ of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

2] F 1%} [%] F (%]
X r - x r X r X
8 . sl : 8 .8l 8 s g
5 10°F 5 5 10°F- =
E g ¢ 2
i & = 8
10F =
= . = = >
E . F F ©
10°F - 10°F E
10°F 3 £
10F 3 E
1 - 1
Qv
3
o [24 [24
i o E -
085 -i5-10 5 0 5 10 15 20 0¥ =510 5 0 5 10 15 20 086 -i5-10 5 0 5 10 15 20 051510 5 0 5 10 15 20
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
2] C 1%} 1%} (%]
s F 3 ] S
g | g g g
s 1OF P °
2 F 8 8
I a
10°F 3
10°F
10°E .
E - - 10°F
10°F 10
-QLU'||||I||||I||||I||||I||||I|||| IQLU-uuuulu ° o
T T T T
24 [h4 14 [h4
o el sl £ SO | v i) R
0¥ =20 -i0 0 10 20 30 0¥ 20 -0 0 10 20 30 09320 -i0 0 10 20 30 ¥/ 20 -10 0 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


